Quiz 5
Name:

Student Number:

CALCULATORS ALLOWED.

1. (2 marks) A windmill generates a power of 2 MW. Suppose it pumps water up o a

reservoir 5 meters above ground. What is the maximum volume per second of water it
can pump into the reservoir?
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(2 marks) Compute the escape velocity of a 1000 kg spacecraft from the moon which has
a radius 1740 km and a mass 7 x 10?? kg. The spacecraft has a length of 2.5 meters.
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3. a) (2 marks) Estimate the maximum power generated by burning all of Toronto’s

garbage. (Assume 1 kg garbage generates about 5 x 10° Joules)
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b) (1 mark) What fraction of Toronto’s total electrical demand does this represent?
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4. A politician wishes to extend the shipping season thereby increasing the economic
activity of a port.
a) (2 marks) How much power is needed to melt 0.5 km® of ice in one month? (Enel gy

required to melt 1 gm ice = 79 calories/gram. 1 Calorie = 4.2 D) /g -
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b) (1 mark) Is this idea realistic?




